
Subject: Re: UNDER FIVE MORTALITY
Posted by rajesh.dahima91@gmail.com on Wed, 25 Apr 2018 11:52:25 GMT
View Forum Message <> Reply to Message

No i am not able to apply weights for lifetable.

 ltable timeyears dead

                 Beg.                                 Std.
   Interval     Total   Deaths   Lost    Survival    Error     [95% Conf. Int.]
 ------------------------------------------------------------ -------------------
    0     1    259627    10702  48295     0.9546    0.0004     0.9537    0.9554
    1     2    200630      641  49284     0.9511    0.0004     0.9502    0.9519
    2     3    150705      271  49084     0.9490    0.0005     0.9481    0.9499
    3     4    101350      200  51497     0.9465    0.0005     0.9455    0.9475
    4     5     49653       70  49583     0.9439    0.0006     0.9427    0.9450
 ------------------------------------------------------------ -------------------

. ltable timeyears dead [fw=weight]
may not use noninteger frequency weights
r(401);

Under five 56.1 (i.e 1 - 0.9439)which does not match with the National report.
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